# Bid Results

#### **Bidder Details**

Vendor Name Bedrock Group, Inc.

Address 2222 foothill boulevard Suite E531

La Canada, California 91011

**United States** 

Respondee Andre Haghverdian

Respondee Title President

Phone 818-378-8865

Email bedrockgroup@charter.net

Vendor Type

License # 1012968

#### Bid Detail

Bid Format Electronic

**Submitted** 05/18/2023 4:10 PM (PDT)

**Delivery Method** 

**Bid Responsive** 

Bid Status Submitted Confirmation # 331679

# Respondee Comment

### **Buyer Comment**

#### **Attachments**

File Title

Bid Package-Planet bid submitted-James Anderson-5-18-23bid.pdf File Name

Bid Package-Planet bid submitted-James Anderson-5-18-23bid.pdf File Type
Submission

Documents

PlanetBids, Inc.

City of Carson

Page 2 of 5 Printed 05/23/2023

PROJECT NO. 1718: JAMES ANDERSON PARK ACCESSIBILITY UPGRADES (IFB 23-07), bidding on 05/18/2023 5:00 PM (PDT)

# Line Items

Discount Terms No Discount

tem # Item Co	ode Type Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
Section name red	quired				\$1,688,094.25		
1	BONDING, MOBILIZATION, DEMOBILIZATION, INSURANCE, AND CARSON GENERAL CONDITIONS	LS	1	\$120,000.00	\$120,000.00	Yes	
2	ALLOWANCE	LS	1	\$50,000.00	\$50,000.00	Yes	
3	REMOVE EXISTING TREE, INCLUDINGS STUMP	EA	2	\$5,500.00	\$11,000.00	Yes	
4	REMOVE VEGATATION	SF	4765	\$1.50	\$7,147.50	Yes	
5	SAWCUT PCC PAVEMENT	LF	680	\$6.00	\$4,080.00	Yes	
6	REMOVE PCC PAVEMENT AND BASE	SF	27571	\$4.00	\$110,284.00	Yes	
7	SAWCUT AC PAVEMENT	LF	186	\$6.00	\$1,116.00	Yes	
8	REMOVE AC PAVEMENT AND BASE	SF	1750	\$6.00	\$10,500.00	Yes	
9	REMOVE BRICK PAVERS	SF	1163	\$10.00	\$11,630.00	Yes	
10	REMOVE CONCRETE CURB	LF	137	\$8.00	\$1,096.00	Yes	
11	REMOVE PEDESTRIAN RAMP	LS	1	\$2,500.00	\$2,500.00	Yes	
12	REMOVE AND SALVAGE INFORMATION SIGN AT FITNESS EQUIPMENT	EA	7	\$200.00	\$1,400.00	Yes	
13	REMOVE AND SALVAGE SIGN, INCLUDING POST	EA	5	\$200.00	\$1,000.00	Yes	
14	REMOVE AND SALVAGE BLEACHER	EA	2	\$6,000.00	\$12,000.00	Yes	
15	REMOVE AND SALVAGE BENCH BENCH	EA	10	\$200.00	\$2,000.00	Yes	
16	REMOVE AND SALVAGE PICNIC TABLE	EA	2	\$200.00	\$400.00	Yes	
17	REMOVE AND SALVAGE FITNESS EQUIPMENT	EA	7	\$200.00	\$1,400.00	Yes	
18	REMOVE AND SALVAGE BIKE RACK	EA	1	\$150.00	\$150.00	Yes	
19	REMOVE DRINKING FOUNTAIN INCLUDING FOUNDATION	EA	2	\$800.00	\$1,600.00	Yes	
20	REMOVE WATER VALVE AND VALVE BOX	EA	2	\$600.00	\$1,200.00	Yes	
21	MISCELLANEOUS DEMOLITION	LS	1	\$2,500.00	\$2,500.00	Yes	
22	HAUL AWAY AND DISPOSE	СУ	1944	\$130.00	\$252,720.00	Yes	
23	PROTECT ELECTRICAL/COMM BOX	EA	2	\$200.00	\$400.00	Yes	
24	PROTECT EXISITING FENCING, ADJUST AS NEEDED	LF	140	\$15.00	\$2,100.00	Yes	
25	PROTECT EXISTING CATCH BASIN	EA	5	\$200.00	\$1,000.00	Yes	
26	PROTECT TRENCH DRAIN	LS	1	\$100.00	\$100.00	Yes	
27	PROTECT IN PLACE EXISTING SIGN AND POST	EA	2	\$100.00	\$200.00	Yes	
28	PROTECT IN PLACE RAISED PLANTER	EA	2	\$200.00	\$400.00	Yes	
29	PROTECT IN PLACE EXISTING TREE	EA	7	\$350.00	\$2,450.00	Yes	
30	PROTECT PLAYGROUND SURFACE AND PLAY EQUIPMENT	SF	11877	\$0.50	\$5,938.50	Yes	
31	PROTECT IN PLACE LIGHT POLE AND BASE	EA	5	\$150.00	\$750.00	Yes	
32	TEMPORARY CONSTRUCTION BARRIER, AT AREA OF WORK, ALLOWANCE	LS	1	\$18,000.00	\$18,000.00	Yes	
33	TEMPORARY PROTECTION, GENERAL AREAS, ALLOWANCE	LS	1	\$5,000.00	\$5,000.00	Yes	
34	FIELD STAKING/LAYOUT	SF	30963	\$1.00	\$30,963.00	Yes	
35	CLEAR AND GRUB SITE	SF	30963	\$1.75	\$54,185.25	Yes	
36	ROUGH GRADING, CUT AND FILL ON BALANCED SITE	СУ	1720	\$35.00	\$60,200.00	Yes	
37	OVER EXCAVATE AND RECOMPACT	СУ	1806	\$35.00	\$63,210.00	Yes	
38	FINE GRADING	SF	30963	\$2.00	\$61,926.00	Yes	
39	EROSION CONTROL TEMPORARY CONSTRUCTION ENTRANCE	LS	1	\$8,000.00	\$8,000.00	Yes	
40	EROSION CONTROL	SF	390000	\$0.08	\$31,200.00	Yes	
41	SWPPP	LS	1	\$10,000.00	\$10,000.00	Yes	
42	CONCRETE PAVING, 4" THICK INCLUDING SUB BASE AND REINFORCEMENT	SF	29203	\$14.00	\$408,842.00	Yes	
43	AC PAVING, 4' AC OVER 10" AB	SF	1760	\$13.00	\$22,880.00	Yes	
44	DECOMPOSED GRANITE, 3", STABILIZED	SF	325	\$18.00	\$5,850.00	Yes	
45	CONCRETE CURB, FLUSH, 6"	LF	137	\$60.00	\$8,220.00	Yes	
46	CONCRETE CRUB, 12" WIDE	LF	60	\$120.00	\$7,200.00	Yes	
47	CONCRETE SCORE LINE	LF	902	\$3.00	\$2,706.00	Yes	
48	PATCH AND REPAIR EXISITING CONCRETE AT JUNCTIONS WITH NEW	LF	1	\$1,000.00	\$1,000.00	Yes	
	PATCH AND REPAIR EXISTING CONCRETE AT JUNCTIONS WITH NEW	LF	43	\$20.00	\$860.00	Yes	
49	FATCH AND REPAIR EASTING AC PAVING AT JUNCTION WITH NEW	LF	43	\$20.00	\$00U.UU	168	

Item #	Item Code	Туре	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
50			ADA TRUNCATED TEXTURE STRIP	SF	426	\$52.00	\$22,152.00	Yes	
51			4" BLUE STRIPING MARKING	SF	54	\$12.00	\$648.00	Yes	
52			ISA SYMBOL MARKING	LS	4	\$450.00	\$1,800.00	Yes	
53			WHEEL STOP	EA	4	\$120.00	\$480.00	Yes	
54			CONCRETE STAIRS	EA	1	\$25,000.00	\$25,000.00	Yes	
55			LANDSCAPING	LS	1	\$20,000.00	\$20,000.00	Yes	
56			LANDSCAPE MAINTENANCE, 6 MONTHS	LS	1	\$6,000.00	\$6,000.00	Yes	
57			DOMESTIC WATERLINE INCLUDING TRENCHING AND BACKFILL	LS	24	\$150.00	\$3,600.00	Yes	
58			4" HDPE PERFORATED PIPE INCLUDING TRENCHING AND BACKFILL	LF	93	\$120.00	\$11,160.00	Yes	
59			<sup>3</sup> ⁄ <sub>4</sub> " BRASS WATER VALVE	LF	2	\$650.00	\$1,300.00	Yes	
60			VALVE BOX	EA	2	\$900.00	\$1,800.00	Yes	
61			CONNECT TO EXISTING WATER LINE	EA	2	\$2,000.00	\$4,000.00	Yes	
62			ADJUST VALVE BOX TO FINISH GRADE	EA	2	\$700.00	\$1,400.00	Yes	
63			METAL GUARDRAIL/HANDRAIL	EA	810	\$160.00	\$129,600.00	Yes	
64			DRINKING FOUNTAIN	LF	2	\$9,000.00	\$18,000.00	Yes	
65			REINSTALL SALVAGED INFORMATION AF FITNESS EQUIPMENT	EA	7	\$200.00	\$1,400.00	Yes	
66			REINSTALL SALVAGED SIGN, INCLUDING POST	EA	5	\$300.00	\$1,500.00	Yes	
67			REINSTALL SALVAGED BLEACHER	EA	2	\$7,000.00	\$14,000.00	Yes	
68			REINSTALL SALVAGED BENCH	EA	10	\$250.00	\$2,500.00	Yes	
69			REINSTALL SALVAGED PICNIC TABLE	EA	2	\$250.00	\$500.00	Yes	
70			REINSTALL SALVAGED FITNESS EQUIPMENT	EA	7	\$250.00	\$1,750.00	Yes	
71			REINSTALL SALVAGED BIKE RACK	EA	1	\$200.00	\$200.00	Yes	
72			MOBILIZATION & INSURANCE	LS	1	\$0.00	\$0.00	Yes	
73			PARK IMPROVEMENTS PER BID SPECIFICATIONS	EA	1	\$0.00	\$0.00	Yes	

#### Printed 05/23/2023

# Line Item Subtotals

Section Title	Line Total
Section name required	\$1,688,094.25
Grand Total	\$1,688,094.25